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Instructions -
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All  questions
compulsory.

1) Illustrate your answers
with  labelled diagrams

wherever necessary.
i) Marks allotted to

question are mentioned

against it.
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1. Choose the correct option and write in

your answer-book :

A Which part of flowering plant is
haploid ( n ) ?.
Root W) Leaf
| iii) Male gamete iv) Zygﬁte. 1
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B)

q .

World  Environment pay

celebrated on

i) - 5th June

i)  28th February

Q)

D)

i)  1st December

iv)  20th March.

Who discovered the penicillin ?

1}  Herbert Boyer

i)  M.S. Swaminathan

iii) Ramdev Mishra

iv] Alexander Fleming,

Sickle cell anemia develops due to
i)  recessive allele on autosome

if) dominant allele on autosome

i) mutation & polyploidy

iv)  sex linked recessivenegy
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Differentiate between pyramid of ,
number & pyramid of biomass. 1 3. A) iDeSCTibE in brief the 'Barrier
. methods' used by male to enhance
.y ' .
What is "Turner Syndrome' : 1 contraceptive capacity. 5
Comment upon adaptive radiation. 1 B) Explain 'Law of Segregation' by
Write a short note on 'Opioids'. 1 ~ using monohybrid cross experiment.-
2
Define 'Promoter’. 1 N ] .
| | ¢) What is analogy ? Give one example
™ Ry & SeR § e grr AR - of it. 1+ 1
aﬁ]‘;—q l ' 2 ' passive immunity and give ¢ne
' : example of each. 1+ Y, 4 1,
ﬁqﬁ'qﬁmaﬁf‘aq | | 9 E} Describe in brief 'Hur_nan Genome

Project’, | 2
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Differentiate between the following :
17+ 1%
) . Hermaphrodite and unisexual

i) Cellular barrier and cytokine

barrier.

What are parasite bacteria 7?7

Describe it by giving an example.
1¥%2 + 1%
Explain somatic hybridization. 3

Describe Darwin's natural selection

theory. ' 3
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Draw a labelleq diagram of internal

structure of female reproductive

system. 3
Write a note on eutrophicati(}l’l. 3
Describe = 'poultry Farm
‘Management', 3

What is sewage ? In which way is
sewage harmful to us ? 1+2
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le fertilizatior. Explain it

7 Define doub _
2+3

ﬁith s'uitaﬁle example.
OR
Write short notes on the following :
1]+1+1+1+1

i) World Wildlife Fund ( WWF )

ii) Interspecific competition

iiij Biochemical Oxygen Demand

iv)  Greenhouse gases

v] Stem cell.
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D{:SCI’ibE
T'l"rhat 1s genetic engjneerlng ’ | +4
its application in human health'
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OR
5.

Write an essay on genetic code.
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9. Describe energy flow in ecosystem. 5}
OR

Comment upon thr )
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